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1. 93+

O Vi-V3-V2=1+2
@ 0.02x V2 =0.2

® V6+ Vi= V10
L
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® 242 + V18 — V50 = —24/30
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2. HEF A2
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@ x2+3xy-2y2 = (2x+y) (x - 2y)

@ x(y-1-y+1=(-1)(x-1)

@ ¥ —dx=1x(x-2)°

@ x2-y?-2x+2y=(x+y) (x—y-2)

® 2x+1)°-(x-2%*=0Bx-1)(x+1)
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® (x+2)(x-2)

@ (x+2)(x+1)

® (x+2)?

@ (x+1)?

@ x(x+1)
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Fy=ax®+bx+c9Y
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Ty=3x2-12x+1 9 1
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@ x=-2 @ x=14

D x=2
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V72x 7k A7t = 7] 918
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8. TS 42 4vhE2 Vet o 27 g2 ALY
© VB0 =4v5 @ V32 =142
® V20=2+5 @ 500 = 510

® V1000 = 10 V10



9. Vi50=aV6,2V2= Vb L4 W, a+b 2 ZtE?

@D 6 ® 8 3 10 @ 13 B 16
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10. (2x-1)° - (x+2)* < Q5B (3x + a) (x + b) 7} Dk FHeh,
™

1
ol W, a-b°] = F5HH?

D -1 @ 3 ® 0 @ 2 ® 4
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® A+018IB=0

® A=01811B=0
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® A=0181B+0

® A+018117 B£0



)“ 5)=4% (x+4)°
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b,—\/(-5)2=cat &, a®+2b-c 9

® 40 @ 45 ® 50
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V3+V2 T VB- V2

16. x= A, 2 (x+y) o] g F5HE?

@ V6 @ 246 ® 443 @ 66 ® 86



